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Maths Key Skills

Name:

Date:

Stage 3: Skill Check 14 Answers

Class/Group:

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure, Geometry and Statistics

1. What is the missing number?

S

11 24+4

23. David says the time is “12 o’clock

g

0 100 [] 300 400 500 200 6 | atmidday”. Which of these means
= the same thing? a
] - N C
2. What is the 1 worth in this number? 100 12. 4x11 2 a12noon  b.12pm e 12am
183
(hundred)
e o
3. ut these in order, largest first. 835, 583, | 13- Use 60+12=5to solve: 22. How many days are in a leap
583 385 358 835 385, 358 600+120= 5 |year?
2 a.52 €
4. Draw an arrow to estimate 10. 14. What is the missing number? b. 365
| S | "
o 1 E) o | Arrow 121+ []=20-9 ) e
5. Tom counts up in 8s starting from |~ 15.Whatisthe 8 7 6 | 23.9nthe grid draw a parallelogram. | %
88. What will his 3 number be? 104 | missing fraction? 10 , 10 , 0 Any
6. 594-100= = 16. Shade % SIS D Wus
498 | ot the counters. O s o | 10 9Bl
7. 837+74= 7 17. Label one third on the number line. 24. No. of drinks sold on a Monday: |
911 R Arrow
o 1 Key: < means 2 drinks 6
8. Write a sum to check 93 + 48 =141, | * 18. This shape i n sixths. -E| sreaktime | O O O O shapes
Check:  141[_J93[ |48 = |shadein . 4 wnettime | & & & & O O | drawn
9. After spending 76p, Zac still has 16p | ** 19.Subtractthe 5 4 1| 12 drinks were sold at lunchtime.
left. How much did he start with? 92p | fractions. 9 9 9| Show this on the pictogram.
) ) 330
10. What is the missing number? = 20 Writethe 9 6 4 5 g |25 Howmany drinks were sold in
[]+384=827 443 | smallest fraction. 11 11 11 11 i total on Monday? 21
Total (A) Total (B) Total (C)
Test Total (A+B+C) R(0-9) | Y (10-19) | G (20-25)
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Maths Key skills

Name:

Date:

Stage 4: Skill Check 14 Answers

Class/Group:

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Geometry

1. What is the missing number?

=3

100

11 144 12 =

=

21 Kirsty has 1 kilogram of sugar. She

=

50 75 [ ] 125 150 12 | uses 650 grams to make some cakes.
350
>
2. What is the missing number? “ 12. Use 7x 13 x 2 = 182 to answer: w0 How many grams of sugar are left?
54 63 72 81 [ ] 90 14x13 182
7 FEs =
3. Whatis 1,000 less than 7,3452 13. 57x5= 22. Draw the hands
6,345 285 | 10 sho Hands
4. Round this number to the nearest | 14. Shop A sells 8 pens for £4. Shop B | -~ drawn
1,000 7,548 8,000 | sells 3 pens for £2. Which is cheaper? A
= i =
5. Put these numbers in order, 15. 1 s 23. What is the name of this
smallestfirst: -4 0 -2 -4,-2,0 5715 T[] 3, 25 | quadrilateral?
= T e Kite
6. Put these in order, smallest first: 16.Tofind 75~ of anumber, what do
4384 4843 4438 e | you divide it by? 10
s i =
7. What number does this Roman 17. 133 10 | 24.Plotthe point (1, 1). Label it C.
Numeral represent? XXXIX 39 5 5 5
I — - g
8. 3,916 +4,207 = 18. Write 22 as a decimal number. Point
8,123 100 0.68
plotted
7 T
9. Write the sum to check 283 + 39 = 19. What is the value of the 5 in: 5
3220 3n-[ =[] 39,283 8.15 100
! 28
10. Pencils weigh 55g. Pens weigh 73g. | 20. Round 9.6 to the nearest whole | *~ 25. Points A, Band C form 3 corners | ™ &
How heavy are 1 pencil and 2 pens? 201 | number. 10 | of a parallelogram. Plot the fourth
corner of the shape and label it D. plotted

Total (A)

Total (B)

Total (C)

Test Total (A+B+C)

R (0-9) [

Y (10-19) |

G (20-25)
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Maths Key Skills

Stage 5: Skill Check 14 Answers

Name: Date: Class/Group:
A: Place Value, Add and Subtract B: Multiply, Divide and Fractions C: Measure, Geometry and Statistics
1. Write < or > to make this correct: | 11. Circle all the factors of 32. * 21 % litre of Diet Cola costs 95p. |
1,001,100 [_] 1,010,001 < 3 CHOn 18 4,16
= = Sue needs 2 litres of Diet Cola. £3.80
2. Write 671,109 | ix hundred and seventyone | 12. What s the only even prime 5| How much does this cost her?
in words. thousand, one hundred and nine | number?
= g 520
3. Round 596,147 to the nearest ten. 13. 2,093x5 22. What shape
596,150 10465 | o
is this a net of? .
= = i Cuboid
4. Whatis the missing number? 14. 753+ 1000
9980 9990 [ ] 10010 | 10,000 0.0753
= Ee] =
5. The temperature was -11°C then 15. Circle all of the square numbers. 23, Translate
increased by 9°C. What is it now? 38 56 (8190 49,81 | the shape: Shape
7 e 4units right SN drawn
6. What number s represented by 16. 13 _ 6 landiumts | N
these Roman Numerals? MLXIX | 1069 2 18 18
these Roman Numerals’ w
7. 390,340 + 5,475 = > 17. Find an equivalent fraction of 3 N 24. Look at this bus timetable: 20
sasee B | 5
3 Oldtown | 10:07 | 107 | 1105
8. 94,374-29,194 = = 18. Write 22 a5 a mixed number. 2 0 | |owanby | 1003 | aves | 13 || 10:49
65,180 2 115 |Lnewfield | 105 | 115 | 1200
= = What time does the 10:23 bus from
9. Complete this sum without written 19. FER 7 | swanby get to Newfield?
working.  13,750-6,250 = 7,500 B 63 N y 550
- - 25.1want to be in Newfield by 12:00.
10. DVDs are £12.89 each. If | buy 2, 20. Round 12.56 to 1 decimal place. Whatis the latest bus that I canget | 1047
how much change do | get from £30? | £4.22 12.6 | from Oldtown?
Total (A) Total (B) Total (C)
Test Total (A+B+C) R(0-9) | Y (10-19) | G (20-25)
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Maths Key skills

Name:

Date:

Stage 6: Skill Check 14 Answers

Class/Group:

A: Place Value, Add, Subtract, Multiply and Divide

B: Fractions, Ratio, Proportion and Algebra

C: Measure, Position and Direction

- &1 Four million, seven N N N N &7 6:18/15
1 Write in words: | ‘hundred and two thousand, one | 11- SImplify this fraction fully: 50 2 | 21.730gof pasta are added to 1.4ke. | 2,130 or
4,702,106 hundred and six 7 3 How much pasta is there now? 2.13kg
2. What s the value of the 2 in this | ° . 43 2. * 18 |22.Howmanydaysaretherein3 | *
number? 5,273,914 200,000 5 3 3715 | years? 1,095
= = @
3. Round 8.427 to the nearest whole 13. 1 6 = 1 23. These have the same area. Find
number. 8 N 28 | the missing length. Sem
2 — 510 154 lgem
4. The temperature drops from 8°C to . 14. What is the value of the 3 in this 3 o
-9°C. What s the difference? 17° | number: 58.473 000 | <+ Isem— -
5. 3,746 52 = 15. Give your answer as a decimal: e 24. What are the co-ordinates of A2 | -
194,792 s 9.8
49+5 2,
&3 612 °
6. 912+24 16. Write this decimal as 9 +
38 | 3 fraction and a percentage. 20/45% 3
- = - =5 (-5,-2)
7. Write 3 factors that 36 and 48 have | 1 5 3 | 17. Find 5% of 90. d
in common. 4612 45
64 614 11ty
8. The number 39 has two prime 18. The ratio of cats to dogs 3:1. If
factors. What are they? 3,13 | there are 27 cats, how many dogs? 9
X 56+ (15+13) = 19. 9 blocks get added to a tower that | =~ .
2 |ishblocks tall. Write an expression. h+9 N
aa
10. How many 65-seater buses doesa | 20. Write a possible value for aand b. | ° 25. Translate parallelogram ABCD 3 | Shape
school need for 265 pupils and staff? 5 (a+b)x5=45 m:"‘mk units right and 1 units down. drawn
Total (A) Total (B) Total (C)
Test Total (A+B+C) R(0-9) | Y (10-19) | G (20-25)





